I made different function machines and plotted the results on tables and then on the graph, and comparing the graphs these are my conclusions:
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Here the function can be written as:  y = 2x +3 

You know it is a straight line graph if  y=2x+3, or y=4x-8 

The lines will have constant gradient, either positive or negative:
it is negative if it has a negative sign (ie. -2x), positive gradient when it is, for example, +2x, and when it is “0x” then the line has a gradient of 0 (it is horizontal).

You can tell from a function machine or mapping when a horizontal or vertical line occurs. When y=2 or y=7 then it is a horizontal line and these lines are parallel. When x=3 or x=9 then the lines are vertical and these lines are parallel. 

You can have parallel lines if both lines have the same positive gradient or the same negative gradient.

I also found out that instead of multiplying you can divide in the function machine.

For example, if y = x ÷2 +3  you still get a straight line graph and here the intercept is at 3 and the gradient is ½. 

Examples of a function with horizontal lines - x  x 0 + n = y
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Functions can produce perpendicular lines where one gradient function is negative and the other is positive

For example:
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“2” tells you how steep the graph is. The higher the value the steeper the graph. 


It also tells the direction of the graph. If it is +2x the graph has a positive gradient: it goes up as you move to the right. If it is -2x then it has a negative gradient: it goes down as you move to the right





“3” tells you where the graph will cross the vertical axis. Here it will cross at (0,3)





The output will tell you the value of “y”





The gradient is always 0





“n” can be any value and the graph will cross the vertical axis at (0,n)





The output will tell you the value of “y”, which is always what “n” is














the intercepts can be different








